

1) Use Rieman sum to evaluate $\int_0^2 (x^2 + 3) dx$ (3 marks)

2) Find $\hat{F}(x)$ if $F(x) = \int_{\tan(x/2)}^{3^{5x}} \sqrt{t^2 + 1} dt$ (2 marks)

Find y' of the following: (2+2)

3) $y = [\cos^{-1}(3x)] \log |\csc(x) - \cot(x)|$

4) $y = (\cot x)^{\csc x} + 3x^2$

Q2: Evaluate the following integrals (2 marks for each integral)

1) $\int \left(x^{\frac{2}{5}} \sqrt[5]{\sin x^3} \right)^5 dx$

2) $\int \frac{-1}{\sqrt{e^{6x}-4}} dx$

3) $\int_0^1 e^{2\ln(x)} 3^{3x^3} dx$

4) $\int \frac{x+1}{\sqrt{1-x^2}} dx$

5) $\int \frac{\sec(\ln x^2)}{x} dx$ $\frac{2x}{x^2} \quad \frac{1}{x}$

6) $\int \frac{\tan\left(\frac{3}{x}\right)}{x^2} dx$

7) $\int \frac{(1+\sec^{-1}x)^5}{\sqrt{x^4-x^2}} dx$

8) $\int (\cos x) (\sin^2 x)^{-1} dx$

① Use Riemann Sum to evaluate

$$\int_0^2 (x^2 + 3) dx$$

Ans. $a=0$; $b=2$; $f(x)=x^2+3$

$$\Delta x = \frac{b-a}{n} = \frac{2}{n}$$

$$\bullet x_k = a + k\Delta x = \frac{2k}{n}; \quad 0 \leq k \leq n$$

$$\bullet f(x_k) = \left(\frac{2k}{n}\right)^2 + 3 = \frac{4k^2}{n^2} + 3$$

$$\bullet \sum_{k=0}^n f(x_k) = \frac{4}{n^2} \left(\sum_{k=0}^n k^2 \right) + 3 \left(\sum_{k=0}^n 1 \right)$$

$$= \frac{4}{n^2} \frac{n(n+1)(2n+1)}{6} + 3(n+1)$$

$$\int_0^2 (x^2 + 3) dx = \lim_{n \rightarrow \infty} \frac{2}{n} \left(\sum_{k=0}^n f(x_k) \right) \quad (2)$$

$$= \lim_{n \rightarrow \infty} \frac{2}{n} \left[\frac{4(n+1)(2n+1)}{6n} + 3(n+1) \right]$$

$$= \frac{16}{6} + 6 = \frac{8}{3} + 6 = \frac{26}{3}$$

$$\text{check } \left[\frac{x^3}{3} + 3x \right]_0^2 = \frac{8}{3} + 6 = \frac{26}{3}$$

Scanned with

CS CamScanner™

$$(2) \quad F(x) = \int_{\tan(\frac{x}{2})}^{3^{5x}} \sqrt{t^2 + 1} \, dt$$

$$= \int_{g(x)}^{h(x)} f(t) \, dt$$

where $g(x) = \tan(x/2)$; $h(x) = 3^{5x}$; $f(t) = \sqrt{t+1}$

$$\begin{aligned} F'(x) &= f(h(x))h'(x) - f(g(x))g'(x) \\ &= f(3^{5x})(5h^3)3^{5x} - f(\tan(x))\frac{1}{2}\sec^2(x/2) \\ &= \sqrt{(3^{5x})^2 + 1} (5h^3)3^{5x} - \frac{1}{2}\sqrt{\tan^2(x/2) + 1} \sec^2(x/2) \end{aligned}$$

③ $y = \cos^{-1}(3x) \log |ax - \cot x|$

$$y' = \frac{-3}{\sqrt{1-(3x)^2}} \log\left|\cos(3x) + \frac{1}{\tan 40}\right| \frac{\cos^2(3x) - \cos(3x)}{\cos(3x) - \cos(40)}$$

$$y_1 = (\cot x)^{\cot x}$$

$$\frac{d}{dx} \ln y = \frac{1}{y} \cdot \frac{dy}{dx} = \frac{1}{\cot x} \cdot (-\csc^2 x) = -\frac{1}{\cot x} \cdot \frac{1}{\sin^2 x} = -\frac{1}{\cos x \sin^2 x}$$

$$y_1' = \left[\cos x \cot x \ln |\cot x| - \frac{\cos^3 x}{\cot x} \right] (\cot x)^{\cos x}$$

$$y'_2 = (\ln 3)(2x) 3^{x^2}$$

$$\textcircled{1} \quad I = \int \left(x^{2/5} \sqrt[5]{\sin(x^3)} \right)^5 dx$$

$$= -\frac{1}{3} \cos u + C$$

$$(3) K = \int_0^1 e^x dx$$

$$\textcircled{4} \quad I = \int \frac{x+1}{\sqrt{1-x}} dx$$

$$(5) M = \int \frac{A \rho c}{V}$$

$$\int \frac{u(x)}{2\sqrt{u(x)}} dx = \sqrt{u(x)} + C$$

$$\left. \frac{\cos^3 x}{\cot x} \right] (\cot x) \quad I = \int (x^{2/5} \sqrt[5]{\sin(x^3)})^5 dx = -\frac{1}{3} \cos(x^3) + C$$

$$(2) J = - \int \frac{dx}{\sqrt{e^{3x} - 4}} = - \int \frac{dx}{\sqrt{(e^{3x})^2 - 2^2}}$$

$$u = e^{3x}$$

$$du = 3e^{3x} dx$$

$$du = 3u dx$$

$$= -\frac{1}{3} \int \frac{du}{u \sqrt{u^2 - 2^2}} = -\frac{1}{6} \operatorname{arcc} \left(\frac{u}{2} \right) + C$$

$$= -\frac{1}{6} \operatorname{arcc} \left(\frac{e^{3x}}{2} \right) + C$$

$$(3) K = \int_0^1 e^{2 \ln x} \frac{3x^3}{3} dx = \int_0^1 x^2 \frac{(3x^3)}{3} dx = \frac{1}{9} \int_0^3 u^2 du = \frac{1}{9 \ln 3} \left[\frac{u^3}{3} \right]_0^3 = \frac{26}{9 \ln 3}$$

$$(4) L = \int \frac{x+1}{\sqrt{1-x^2}} dx = \int \frac{-2x}{2\sqrt{1-x^2}} dx + \int \frac{dx}{\sqrt{1-x^2}} = -\sqrt{1-x^2} + \sin^{-1} x + C$$

$$(5) M = \int \frac{\operatorname{arcc}(\ln(x^2))}{x} dx = \frac{1}{2} \int \operatorname{arcc} u du = \frac{1}{2} \ln |\operatorname{arcc} u + \tan u| + C$$

$$u = \ln(x^2) = 2 \ln x$$

$$du = 2/x dx$$

$$= \frac{1}{2} \ln |\operatorname{arcc}(2 \ln x) + \tan(2 \ln x)| + C$$

$$\textcircled{6} \quad N = \int \frac{\tan(\sqrt[3]{x})}{x^{2/3}} dx = 3 \int \tan u \, du$$

$$u = x^{1/3} \quad \Rightarrow \quad du = \frac{1}{3} x^{-2/3} dx = \frac{1}{3} \frac{dx}{x^{2/3}}$$

$$= 3 \ln |\sec u| + C$$

$$= 3 \ln |\sec(x^{1/3})| + C$$

$$\textcircled{7} \quad P = \int \frac{(1 + \sec^{-1} x)^5}{\sqrt{x^4 - x^2}} dx = \int \frac{(1 + \sec^{-1} x)^5}{x \sqrt{x^2 - 1}} dx$$

$$u = 1 + \sec^{-1} x$$

$$du = \frac{dx}{x \sqrt{x^2 - 1}}$$

$$= \int u^5 du$$

$$= \frac{u^6}{6} + C$$

$$= \frac{1}{6} (1 + \sec^{-1} x)^6 + C$$

$$\textcircled{8} \quad Q = \int \frac{\cos x}{\sin^2 x} dx$$

$$= \int \frac{\cos x}{\sin x} \cdot \frac{1}{\sin x} dx$$

$$= \int \cot x \csc x \, dx$$

$$= -\csc x + C$$